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G.PL-9 3-M20 HTB

33

300

Tl= 159.2/2 x 15.6 x 1.1 x 0.02 = 27.3 kN
T2= 27.3 x 0.488/0.15 = 88.8 kN
T3= 88.8 - 27.3 = 61.5 kN =>

M =27.3 x 0.338 = 9.2 kN m

PL-9 W=300 Z=(0.9 x 30%)/6 = 135 cm® A= 0.9 x 20 = 18.0 cm?

o /f = 920/(135 x 15.6) + 88.8/(18 x 15.6) = 0.76 < 1  OK

H-300 x 150 x 6.5 x 9 (A=46.78 1ix=12_4 1k=6.25m)

A = 625/12.4 = 51 => Ifc = 13.4 kN/cm?

0.69
o /f = 88.8/(46.78 x 13.4) + 0.69 = 0.83 <1 OK
M20 => RT= 47.1
o /f =/88.8% + 55.12/(47.1 x 3) = 0.74 < 1 0K

H-488 x 300 x 11 x 18 (A=159.2)
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H-488 x 300 x 11 x 18 (A=159.2)

S H-300 x 150 x 6.5 x 9 SS400

G.PL-9  5-M20 HTB

300

T1=T2= 159.2/2 x 15.6 x 1.1 x 0.02 = 27.3 kN

M =27.3 x 0.338 = 9.2 kN m

P1= 9.2/0.12 = 76.7 kN

= 55.1 kN

PL-9 W=300 Z=(0.9 x 30%)/6 = 135 cm® A= 0.9 x 20 = 18.0 cm?

o /f = 920/(135 x 15.6) + 88.8/(18 x 15.6) = 0.76 < 1 0K

H-300 x 150 x 6.5 x 9 (A=46.78 1y=3.29 1k=6.25m Z=481)

A = 625/3.29 = 190 => Ifc

o /f = 27.3/(46.78 x 2.58)

o /f = 27.3/(46.78 x 2.58)

M20 => RT= 47.1

+

2.58 kN/cm?
0.69
920/(481 x 15.6) = 0.35 < 1  OK

920/(2 x 481 x 15.6) + 0.69 = 0.98 <1 0K
M/2

o /f = (/(27.3/5)% + (55.1/5)% + (76.7/2)%)/47.1 = 0.86 < 1  OK



